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An electrical firm manufictures circuit boardt i o mﬁmm - (1).and @) Bwch

chrowit board in contiguration (1) requires 1 coniponent of A, 2 wiﬁﬂ‘iﬁ NS

companents of €, each circuit board in configuration (2) requires 2 Soniponens. of A2

Somponents of B and | Component of €. Total components: aﬁm\?ﬁ, 30and AS of &

B aind C respoctivedy. £ the profit realied uponsafe i Rs 200 per cireutboard i con figuration C

(1 and Rs 130 per cireuit in configuration (2, How nany cireuit tonfiguration

should the firm manufhcture sa.asto lmimtm profit? Formulate the M a5 Linear

progranying model and solve : _

b, A diet i to contain at least 400 nits of tw _smnﬁuofmammm‘ubfm
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A random variable X has the following probability distribution,

X 1 2 3 4 5
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random from this class, what is the probability that o o
i) Exactly one student is vegetarian P
if) At least two of them are vegetarian
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N. B.: (1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary and gtate

(3) Answers to the same question must be written tuggm 't'u
(4) Numbers to the right indicate marks.
(5) Draw neat labeled diagrams wherever neceggn

(6) Use of Non-programmable calculators is m

1.  Attempt any three of the following:

a. What is E-Commerce? Explain the a.cL

E-Commerce. u,,n,,-

b.  Differentiate between Internet and WWW. e

C List and explain the common features gs@ﬁ-ﬁim pfm&é@ 3
d.  Explain the use of RGB Color Values aﬁd.fgémﬁ&lues,‘in“’cga@

element in HTML. Give suitable examples: SR

e. Name the tag used to create a hy:pe{ - ifs atl

create a relative hyperlink.  *

1 Write HTML Code to demggﬁthﬁ ibliowmg

MOBILE OPERAT]NG SYSTEMS
1. Android
2. iPhone
3. Symbian

..‘

MOBILE MANUFACTURERS g
= Samsung LN

3 « Apple ot

:.,‘_ . HTC ; BaE

i o ,gngsmr URL? Design an HTML page
ffhtmi” after 5 seconds.
T" Wi:h example.

< il -ifigca.ptmn:‘-*

M
m




ated on a form? = Checkbakes, &Mkwmfmh* 2

8. How are the following controls cre j ; :
Field, Submit Button FE TS ESS T F 5 Oh
f. Explain the <audio> tag with all its attributes. " ---j' ' k i-,,,';-,_“-".'- : h.‘ e/
3. Attempt any three of the following: '
a.  What is an assignment operator? Explain any four asﬁsﬂmmt Q‘pm‘;rwigfmﬂ;’f
b.  Write a JavaScript program to accept a number from ﬂlb U-*ifv’l' and display the sum; g
its digits. -,;
L How%re statements labelled in JavaScript? Explain Wlth ﬂ’& f!?[P "’m gﬁﬁp’fm :' e
d.  What is an Array? Explain any four methods of Array © Bﬁf with ﬂﬁfﬁﬁ (23
e.  Explain the following methods of Math ol:gect with e&xamp[E ereﬂf}, mﬁ(};iaﬁdpm@; Q < ke
round(), sqrt(). B ot M s
f. What are events? Explain the fo[lomngewms' SIS S
i. onMouseOut ii onKeyUp i
4.  Attempt any three of the follow]ng& 15 |
a.  Explain the different data types inPHP:. A
b. Write a short note on ﬁinCthﬂ&lﬁ_PIiF- S ';.:i'\s" ey
c.  Explain the following string 1 fiinctions, with' exambgi&» =
i lefirst) i str_shuffleQr ..'-F’_‘:"‘,-_ii,j;:-sg;wﬁ-
d. Wnte a PHP program:that removes ¢ - the first. {h&%ﬁfa_ﬁl
array and then d:splan)?gx%ﬁ ;'éqgmn];lg 5 etements of the @
e.  Write a PHP pmgt_ramtb ﬁnd rthewer afxz{rggﬁﬁ&ﬁ
user. ol RN
f  Explainthe suparglﬂ‘balsc‘!n PHP 3 '.\ T _
5.  Attempt gﬁgihrﬁ qf the'fqllmﬁnrg' > Sl 15
a.  Write pg*PHP pmgam: that uses ﬁagulatoen ressrqﬁ functions to display all the
uppercase . haracters: “ﬁnm $He- atrmg “Thfs ‘1& a‘demonstration of PHP Regular
Ex mssioh’ L Sy T St Wi
b. 3¢ teo &111\PHP Sy
c yPNE'!“'-E‘I F‘**Pf Roll No, Student Name and Percentage from the user ‘
values-in Stl{deﬂmﬂ, 5n&ms, percentage) in database College. b
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Q. P. Code : 33404

(2% Hours) [Total Marks: 75|

LB (1) Al questions are gompulsory.
2) Make guitable nssumptions wherever necessary and gtate the assumptions made,
(3) Answers to the snme guestion must be writlen together,
(4) Numbers to the pight indicate marks,
(5) Draw nent Inbeled dingrams wherever pecessary,
(6) Use of Non-programmable calculators is allowed.

Attempt guy theee of the following: ' 15
What is object oviented programming? State its applications.

Wustrate the relationship between object and class.

Explain the coneept of abstraction with suitable example.

Explain in brief about reusability with suitable example,

What is polymorphism? Give suitable example for the same.

Write a note on dynamic binding,

Attempt any three of the following: 43 o 15
Explain the structure of C-++ class, ' 35

Write a C+ program to create a ¢lass Bank with { acno rcusin::-tms, bal} 25 its

attributes. And implement the methods withdraw() , deposit() and showBalance().

Explain in brief the concept of friend function and class with snzi.able example.

What is constructor? State its cl‘mmctansucs.

Write 8 C+-+ program to implement the concept crji'mansu uetgr‘fqmd destructor.

Explain the concept of painter to objeet WlI‘h sl.umhle examp l»s

. Attempt any three aof the following: : y 15 .
L Explain the concept of function overloading with ss‘limble. axampla ]
L Write a C++ program to overload binaiy (+F) apma,tm I ]
% List the operators that cannot be overloaded. Explain the rules for overloadmg"the
Dpermors

What is static func;mn‘? Explain how it is implemented.

What is pure virtual function? Explain how it is implemented.

Explain in briel the concept of abstract class,

= i 1o

=

Attempt any three of the following: 15
Explain. the concept oi‘muliilevcl inheritances with suitable example. i
Write o C-++ program Lo implement the following hierarchy of inheritance.

o =

£ Llon Tiger _ gt
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Animal

lmea;;l. gfmathod averriding with suitable nxﬂmplm -
on containership,
mg:{:hamism ol hanckling i.lw amapL[
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Attempt any three of the following: oy o, : Is
Explain the concept of function template with suitable example. ol st

Write a C++ program to implement the concept of class template. 1Pk o B Tl
State and explain different file modes.

Write a C++ program to read the input from the user and write into W L
suitable file mode] e N
Write a C++ program to display the contents from the file in a console mode.
suitable file mode] .=

Write a C++ program to copy the contents from one file to othe
file mode] -'
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Please check whether you have got the right question paper. .

(1) All guestions are compulsory.

(2} Make suitable assumptions wherever necessary amd state the assumggmng made

(3) Answers to the same question must be written together.
(4} Numkbers to the right indicate marks.

(5) Draw neat labeled diagrams wherever necessary.
{6} Use of Non-programmable calculator |s allowed.

1. Attempt gny three of the following:

15

3, List and explain the various toxins present in computer systems.
b. What is carbon footprint? Briefiy explain how to compute company's carbon

footprint?
¢.  Discuss about cost saving in power consumption by desktons and data centers.
d. Mrite a short note on United Nation’s Solving the E-waste Problem {SEEP}
e. Discuss the European Union’s e-waste management WEEE and it?Rn!-ﬁ direcuves
T Write a short note an Easel An:ti::m NeIM(Urk
a.
b.
c.
d. 1s
e. Wnte a ngte Un mnlmg:np‘inmjzétmn h\‘.f déta ::enter de,s;gn
7 Explain am!:twmbas“i'pr_actlces thatcam*help Dpfjmlze the airflow around servers
3. 15

gk Bg&e‘ﬂ_‘,‘r ,gkjgiam s;eps m#ettm‘g upwa teletamnwtmg program. -
A eon E ,1mnmenta[l?ﬁrei“'erabie Purchasing Plan.
(s Hsrtmé.mgcatg kﬂ’ep“watéﬁusége under control. List the issues to prevent wasted

-" -1 -'L-E"?Egaﬁ-::-c'g Hehs

!aishmg'? Wha't is l:omrnercxal and non- cumm‘_%@ﬁ' g
X am the phases of a computer product’s life cy



ﬁuamME'M::-pf fljﬁ_fﬁlluwihg:
How Bl tools and MS s
Write a note on (
components.
What is Green Procurement?

Write a note on SMART Goals.

Explain the role of Chief Green Officer?

What is baseline data, benchmarking and data*éné_f?&i.‘s'_
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N.B.: (1) All questions are compulsory, iy

(2) Make suitable assumptions wherever necessary and state the assumn ic Aol
(3) Answers to the same question must be written together e = Vi

(4) Numbers to the right indicate marks, £ R e SN .' :
(5) Draw neat labeled diagrams wherever necessarx ; i TR o i
(6) Use of Non-programmable calculators is allowed, i RS L S S
1.  Attempt any three of the following: F e : 15
a. How does a Microprocessor work? e '
b. Explain the following in terms of Compilers:-
i) Source code fe i
i) Object code e
c. How is a flip or a latch used as a storage: elemﬂnt'? :
d. What are the different internal data operations and the I'ﬂgISEt:I' ofthe 8085
b microprocessor? = 2 :
e Deseribe the various buses in the 8{)35 mloroproocssor
f. Draw a neat labelled clnagram of tha 8{}&5 Mi,croprocessm, o
28 Attempt any three of the falloﬁm 15
a. Compare the working qf an"]IN 'aﬁd GUT.—meru:ﬁﬁ_E)]ﬂ._
b.  Write a short note on M@ ﬁo_lj‘gyap‘pedﬂﬁ ' hniqﬁéﬁv i
c. Arithnietic ir ﬁﬁﬁm@mpmcessnr
; \.'.‘ - \-'-." : i
d.  Write an assem 'Ty»pm,g‘rm- S 1 nib' 'bcatmn 2041H from

'e' d{ﬂ"&rénc : ;

'E;)qﬂm hq!krmigtez~m§%qﬁm
"'Qﬁtl\hm es?e@q;:mﬁbgr g
 delay ﬁ:
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Attempt any three of the following: AR ol N -

Write an assembly program for 8085 microprocessor to convcrt ( I 111 1 1‘ 1 1)Zm its F
BCD equivalent. ] s TR et _' o
Explain the following instruction for 8085 MiCroprocessor i = Rt ey cp o AT

1) DAA k- S i -.;': Tt i e x

i) XCHG e R i 3
Explain the working of an interrupt in 8085 mlcroproccssor.' W e N L
What is the function of an editor , assembler and loader?. wd* TR ¥ e
List and describe of files generatcd after cross assembling =~
Write a short note on SIM instruction.

om0

th

Attempt any three of the following; : o . ' - = 358
What are the features of Pentium Processor. : ok : '

. T -
List and describe the special Pentium reglsters NN ;

Describe the memory management in Pentium and Pentium pro plocessors
Compare Core i35 and i7 processors.

Describe the general SPARC Architecture. . Q
What are the various instr ucuon fonnat in fhe SPARC Archl‘recture‘?
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